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10,065,000 *9/100 906
OANEEZEZZ 33,0003 52130 4,950
201 LBt 12,000 12,144 AN144
01 AtSR2t2ldl 4,000 4,000 0
O=seHY A&EmAX 2l 400,000& *10= 4,000
02 23234l 8,000 8,144 A 144
OH ZHl 8,000
0.sLMHEAIE 2,500,000 *3= 7,500
0.9 250, 000& =2CH 500
206 M= Hl 20,000 10,000 10,000
01 M=z=Hl 20,000 10,000 10,000
02 8528 MM 7Y 4,000,000& *5& 20,000
401 AEHIZ2OHbI 40,000 26,000 14,000
01 Al&t| 40,000 26,000 14,000
OMNLAHE ot2A HIEWHM  2,000,0008 85 16,000
OHsolA LHEAIEEHI 5,000,000& 2= 10,000
OJsdE Y 5,000,000& +2JH 2~ 10,000
OFAL & A2 2 M 2,000,000& 23| 4,000
HolSHEEL2Y 15,700 15,400 300
= 7.850
[ 7,850
101 Q14| 4,290 4,016 274
2 2,145
= 2,145
04 JIZtMZ22XSE+ 4,290 4,016 274
Oddaiso&EL2g el (13021) 4,290,000 4,290
= 2,145
= 2,145
201 Let243| 6,000 6,320 A 320
= 3,000
i 3,000
01 AbR2t2lH| 6,000 6,320 A 320
Ogt=ZH| 2,500
0.doiS¢NEEE SHIsSE=TMA
100,000& *15& 1,500
= 750
= 750
0. 2o SYH =M
500& = 1,0000H * 2= 1,000
= 500
= 500
oYtz 3,500
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el

sZJl=4H
ANSEEst HHHol=

ANSEEL3 =g

SA . MM .G (B HEAY . B2 Al OH HEE H D=2t
T—|'0—|'|_T|(23:”). J2AE - HE S o= O] AF OH (S,
0.9ai= =
3,500,000& * 1J0HA 3,500
= 1,750
= 1,750
206 M= 4l 2,850 2,000 850
= 1,425
o 1,425
01 M=zl 2,850 2,000 850
ogaisuzeg2g9 M2
2,850,000& * 1H A 2,850
= 1,425
o 1,425
301 2EtEAZ 560 1,064 AB04
= 280
= 280
10 SALAHIE & 560 1,064 A504
olE X Sa
7,000& = 80¢! 560
= 280
iy 280
405 KHatFE S| 2,000 2,000 0
= 1,000
= 1,000
01 MM ESFH 2,000 2,000 0
OYi=&H 2,000,000& = 1CH 2,000
= 1,000
iy 1,000
OtM = A= M ALRI S Al 3,000 0 3,000
& 1,500
= 1,500
206 M =4l 3,000 0 3,000
& 1,500
e 1,500
01 M=zl 3,000 0 3,000
OotEENE =TS
3,000,000& 3,000
& 1,500
= 1,500
NEE)=B=-25 100,000 0 100,000
& 50,000
= 50,000
307 QI2t01A 20,000 0 20,000
2 10,000
= 10,000
02 0IZ2ZtE3MNE X 20,000 0 20,000
OFHO=s VALSFAZTEH XA
20,000, 000& *1IH 2~ 20,000
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2A sY9IladH
HM: XASE MWHole

DAL ELdsE Jse

SMN-HHM .. AHA(SH) - MRAY - BES Aol a4 Hlw &2
- cSH I T2 ° . [= Bl e =5 0:”/‘l|_% Lsa
& 10,000
i 10,000
402 212t X=01A 80,000 0 80,000
& 40,000
= 40,000
01 22 G2E X 80,000 0 80,000
(OFSpSIESReIR=> SHA B X &
80,000,000 * 171 2 80,000
= 40,000
= 40,000
ELHILE2Y 12,000 0 12,000
= 6,000
= 6,000
101 14| 12,000 0 12,000
= 6,000
= 6,000
04 JIZtHZ2HsE+ 12,000 0 12,000
OELZE eIx2g 12,000,000& *12! 12,000
= 6,000
= 6,000
HSHERI|SASMA 200,000 0 200,000
= 100,000
= 100,000
402 212t X201 200,000 0 200,000
= 100,000
= 100,000
01 QA GEEX 200,000 0 200,000
(OFSE=PeR) MAI =AY
200,000, 0003 =104 2 200,000
= 100,000
= 100,000
=S8 A=A ,288,841 1,739,577 A450,736
= 531,821
= 307,360
= 449,660
DEI DAMM 278,841 1,703,577 A424,736
= 531,821
& 307,360
= 439,660
a5d iD= 142,850 242,960 A 100,110
= 46,560
i 96,290
402 212t XH=01H 142,850 242,960 A 100,110
& 46,560
= 96,290
01 SI2Zt =2 X 142,850 242,960 A100,110

_56_




SN S SME
HE: PASER MNYSY
SHel: DEE DA (e @8
_ _ _ N E
SA-BH.C(BH) - HRAY - B Ofl & o Gil it o Rz
Os=2Ma 2& 2 X 2 (415na/5805 1)
100,450,0002! 100,450
= 28,700
z 71,750
OB4+8 PRTAR ML A ML (1H4)
6,400, 0002 6,400
= 2,400
2 4,000
OS2 HDEE MASX(1944) 9,600,0009! 9,600
= 3,600
2 6,000
OB+ +38 2I=2 X 1,400,0002 1,400
= 560
2 840
OBTZE SN AIBAIR  9,600,0008! 9,600
= 3,600
2 6,000
OFUEZHA 15,400,000 15,400
= 7,700
2 7,700
FTA X2 AHY] 888,000 1,240,000 ~352,000
= 517,000
= 260,800
2 110,200
402 Q12X 0|H 888,000 1,240,000 £352,000
=2 517,000
= 260,800
2 110,200
01 UAEBE 888,000 1,240,000 £352,000
OMLAI S B HSHAL S 888,000,000 888,000
=2 517,000
= 260,800
2 110,200
FTAAREI I =1 21 2 22l bl X & 14,821 7,000 7,821
=2 14,821
201 Yer2g| 4,400 2,600 1,800
= 4,400
01 AtR2elt| 4,400 2,600 1,800
oY 28| 2,300
0.FTA HAMAREDE DN
10,0008 * 230 2,300
= 2,300
oS4y 900
0. U+LHBOIS HHLL
0,0002! 621 * 33l 900
= 900
ogxtz 1,200
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2A: sgI=HH
Mo BASH MYSA
ol DEN M (er9: @@
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
0.FTA =8 UsAXt
600,000& * 2CH 1,200
= 1,200
202 044l 6,000 0 6,000
2 6,000
01 =U40i8| 6,000 0 6,000
OFTA AIZZ 48 T24a
300,000& = 521 * 43| 6,000
= 6,000
301 L2 A3 4,421 4,400 21
= 4,421
10 HALAHIZEAS 4,421 4,400 21
OFTALI Al AR S IS E A 7,000& = 2032l 1,421
2 1,421
OFTA BAMARS BHEZASEM DA
50,000& * 602! 3,000
= 3,000
DA MAT A 233,170 198,920 34,250
201 Let23| 4,250 4,000 250
01 AtE222|Hl 4,250 4,000 250
Ogt=ZH| 1,400
0.0r==20F BIt3 N HA 10,0002 =100 1,000
0.Ut=d8Z T 50,000& 4 & 23 400
ozgd=s¢ 600
0.2t E ZAI=Y 300,000 x23] 600
O=&l 1,050
0.U4=+S% H2FX 7,000 *321 x50 1,050
(@) PN y= 1,200
0.3t s Ls X
600,000& =2CH 1,200
202 (4 H| 6,120 6,120 0
01 =LA bI 6,120 6,120 0
OJl=2gf =0l 170,000& »321«12& 6,120
206 M= Hl 800 1,800 A 1,000
01 WEHl 800 1,800 A1,000
OltgolE HAlsY 7 400,000& 25 800
301 Yere A 2,000 4,000 A2,000
10 HALAHIZEA S 2,000 4,000 A2,000
O&FH s@us A2 50,0003 x40 2,000
402 212t X=01A 220,000 183,000 37,000
01 SIZtGEEX 220,000 183,000 37,000
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HE: JAST MASY
el DEX DAy (9l & 2
_ _ pSNE e
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 Gl o B2
ONEBE M MA(SHEX)X
3021 %1,000, 0000 30,000
ODNEE MDA (BAEE) X
100,000 *250E 25,000
OB+ MEHED X 15,000,0002 +2H & 30,000
ODAIIB(BEINMES S4
13,000, 00024 *1JH £ 13,000
OD% HEHFIIS| Al
3,000, 00024 *47H 12,000
OAFDH ¥ A23 AP 20,000,000%!#20H & 40,000
OAD HEA & MSE Al
2,000, 00024 *30H =t = 5 6,000
Osxtel B2AMM JAMEH
10,000,0002 x27H 20,000
OTT ZotAE LR (4THXR
6,0002 *4, 00074 24,000
OSZD/AML RIST X &
8,000 £ *2,5002 20,000
M ZWL 5 10,000 36,000 26,000
2 OFE A A 10,000 36,000 26,000
402 BI2AT RO 10,000 36,000 26,000
01 pIAX=EE 10,000 36,000 26,000
OBA QI ML BN ALS
10,000,000 15 10,000
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